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He shall return; to include the value of money - 192 T N129% 20

Overview

The 7N writes (by 112 °pra) that '1"9¥2% 2w o3 29w 1127 Y¥a. The word
2% is (seemingly) superfluous®; it comes to teach us that the payment for
damages need not necessarily be made with money but can be made with
anything that is of monetary value (even 1210). It would seem that once the
7N teaches us that 70> MW is as valid as 703 (by 1P°12); the same should
apply to all other cases where 702 is required. However, n1901n points out
that we find that the 7710 teaches us this rule elsewhere as well.
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In the first P95 of Pw7? we similarly interpret the word 2w which is

written’ concerning a Jewish slave. This would seem to be redundant; that the
770 should teach us twice that 70> MW is acceptable as 7o2.

mooIn responds:
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that there is a necessity [of sorts] for the 7™n to write this law both by Pp>11 and
"2y 72v. We would not be able to derive one from the other®.

Summary
There is a reason why the 770 writes 2°w both by 711 and ¥"v.

Thinking it over

Mmoo in PWNTP writes that if it would say 2°w° only by 1p°11 we would have
thought that if you purchase an 72y with ¥p7p it must be with 2vn.
Seemingly what is the connection?! We are deriving that 3"2w by ¥"¥ just as
by 1P°11; however the idea of 2vn is only by P11, why should we assume
that the two (2"2W and 2v») are connected?!’

19 %0 [Dvown] nw.

> See 2w 7" ",

* The 70 writes (X1, [7m3] X1P™) concerning an 12y 72y who was sold to an 2"y that 703» NN W°
1n1pn. We derive from the word 2°w° to include o3 mw; that the purchase of an »72y 72y, as well as his
redemption can be accomplished through 705 MW as well as through 7o2.

* One explanation that Moo offers in PwYTP 'on is; if the 770 would have taught us 7933 723 7w only by
¥"y, we would not assume that it applies to 1’11, since by 1p°71 there is a requirement to pay with 27, and
I may have thought that 710> MW is not 2v>». And if 2°w° would be written only by 1°11, it would be difficult
to derive ¥"v from 7713, for then it would also be necessary to assume that if an 72v is to be purchased with
YpIp, it must be 2wy, just as it is by 1°p°1. Therefore the 7N wrote 7033 703 MW M2A7? 2%, both by ¥"v and
1P 1. See “Thinking it over’.

> See *"va.
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